<5 O-N-w®

HENEYEESYARE.
2025

o BHANEIETIBEER

YOU AROUND THE CNC TOOL EXPERTS

? * g T

"’ %
L2




M>>2025

CNC TOOL ONE-STOP PROCUREMENT

CNCTOOL

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline P
lease enter your headlinePlease enter your headlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your he

adlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline

i B AILFR G

It will make your machine more efficient.




NUMERICAL CONTROL TOOL

AT EN
COMPANY INTRODUCTION

WARRIERHBETDEBRABMIF2009F, B —REIFTHESHBETNAMASEFNERES ALY, TE~RE
HSK/BBT/BT/ISO/SK/NTE & s EBUZ TIRA T, BE BBk R E/AEFR T, ER/SK/HCESIR ERRX, SiHot 7] &/H I/ RE&E
H/ERBETTUARMIAPOE L RES, ANCRETENRET AR EREERS . ™ @™ %8 1EER(GB). ERMTAE(ISO).
TEEHTE (DIN) EEARE(ANSD . BAIRE(JIS) FRRITEF TR &I SHE, R ERT IR IS L B, FFFHiz BT
BIA T fo

FRIERL LA MR EF IR N RS, OO FT SR X E i BB E = TIR. AKX BB R ™ & 2 REAN 2 511750, #:31S09001
EifREEEGRSEREES  ARLES# T KT HERSTUDER. I T KELLENBERGERE MEE S EERIMNEE S ERK, B
2 FTSUGAMIEREEERK, BAWLIEDSHLEMAZAK/ B A KPROKUMABIZEE#HE & R DILEMAZAK BN THOESHMTIEE.
3|3t BAR=FMitutoyo = #45. ZRTTIRF N B E N IARERE B, BEHEDiebold IR ER R, BEBIAHAIMERE T
A, BEZOLLEREHX TINFR WL MINER . AR EFFHM I OB AIRARERAARRN TEE SN, 5| #EELHAL
BigE, BRAMBRERTIZRE NIRIET = R2NRER. ARHAB20ZFTULEBNRAEERN (G228 4R . ERIE
M), REGEARAZ MRS EFNE GRS AR A SBEHK, RIEERKBRNE, JTIFRBE, 2EXBIHEX3-4K 5
5, REZ MY = REHEKA0SPERNMEK, REEF T2 UEOHEMRRE, URSREEH, FAT2ELLHE2E
RI, AMRIMEBRINEFEIGES, HIELRE!



EHAS X
LEADERSHIP CONCERN

— L —_— a ¥
‘“.ipﬂjr--------q

LAEEE KRR EIGESTH A= FET KO85 AR
THE GOVERNOR CAME TO VISIT OUR FACTORY

SLYNS-
OFFICE CORNER




SHE2mR2
EXHIBITION PHOTOS

—t 4 DLl 74
O'N-W wsilzn® |

8 g e

SK AND NT SERIES




=i #t H HF 2

dOHSYHdOM NOILDNAOodd

% Y%

INIWNdINO3 ONILSIL

2

gl

ER &3

HAR == L4R1M1% 1: 10#ERVTAER (FEHBIWEER)
Mitutoyo Coordinate Measuring Machine Picture of :1:10 taper inspection tool

(German Daibo collet chuck inspection tool)

B E MO £

Japanese Mitutoyo Round Test Machine Electric Spindle Test Machines



e & 5O
WAREHOUSE DISTRIBUTION CENTER

%
PACKAGING




DAMPING TOOLS

fRFE iR iR J] R 7 51

ALINT Sk REZFIEESS



< 0-N-w ®

-FERRRIRIIE DAMPING TOOLS

HHE

s S

A34-A36 A37-A38

Zﬂﬂ@

A27 /

S

A39 / kA40 A41

/<
fi
4’4

KA42 A44/ A45-A46

A47 A48-A49




®
<5 O-N-W B T A

-THRRIRIERZETJIHF DAMPING TURNING TOOL HOLDER

>

1 1 2 X0
S1001 ONIdWYa

\
/

JIFERE REMEMER eI
DCONT1 DCON CARTRIDGE
SD16-C16-156V 16 16 156 G1/8.. 7 SD16 1 0.2
-204VE 16 16 204 G1/8.. 10 SD16 1 0.5
SD20-C20-200V 20 20 200 G1/4.. 7 SD20 1 0.4
-260VE 20 20 260 G1/4.. 10 SD20 1 0.8
SD25-C25-255V 25 25 255 G1/4.. 7 SD25 1 1
-330VE 25 25 330 G1/4.. 10 SD25 1 1.3
-380VE 25 25 380 G1/8.. 12 SD25 1 2
-430VE 25 25 430 G1/8.. 14 SD25 1 2.6
SD32- C32-320V 32 32 320 G3/8.. 7 SD32 1 2.1
-416V 32 32 416 G3/8.. 10 SD32 1 2.8
-480VE 32 32 480 G1/4.. 12 SD32 1 4.2
-544VE 32 32 544 G1/4.. 14 SD32 1 4.8
SD40-C40-408V 40 40 408 G1/2.. 7 SD40 2 4.6
=528V 40 40 528 G1/2.. 10 SD40 2 5.3
-608VE 40 40 608 G3/8.. 12 SD40 2 8.3
-688VE 40 40 688 G3/8.. 14 SD40 2 9.4
AR LRE:
y ZhEE S Mark
KE Length
JI#FE 1% Diameter

1&E2T]3k Cartridge




®
JE/E i 17 77 8 <5 O-N-W

-FARRIRETIHF DAMPING TURNING TOOL HOLDER

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\|
/

7HFER ZREER e WP S
DCONT1 DCON CARTRIDGE
SD40-C50-518V 50 40 518 G1/2.. 7 SD40 7.2
-668V 50 40 668 G1/2.. 10 SD40 9.3
-768VE 50 40 768 G1/2.. 12 SD40 14.4
-868VE 50 40 868 G1/2.. 14 SD40 16.6
MRS RA:

? y InEeLS Mark
£E Length

TJI#FE 18 Diameter
JEER Ik Cartridge



®
<5 O-N-W B T A

-FBRRBIRETIHF DAMPING TURNING TOOL HOLDER

1 1 2 X0
S1001 ONIdWYa

\
/

JFEE LRHEER BECT] Sk
DCON1 DCON CARTRIDGE
SD40-C60-628V 60 40 628 G3/4.. 7 SD40 12.5
-808V 60 40 808 G3/4.. 10 SD40 16.3
-920VE 60 40 920 G3/4.. 12 SD40 271
-1040VE 60 40 1040 G3/4.. 14 SD40 30.9
AR IERA:

? IhEEXS Mark
KE Length

JI#FE & Diameter
&AL T]k Cartridge




®
JE/E i 17 77 8 <5 O-N-W

-FARRIRETIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\|
/

LF

® IXFHESRM
JIHER REEER Efc ] sk
DCONT1 DCON CARTRIDGE
SD80-C80-880V 80 80 880 G3/4.. 7 SD80 31.8
-1200V 80 80 1200 G3/4.. 10 SD80 52.3
-1240VE 80 80 1240 G3/4.. 12 SD80 50
-1400VE 80 80 1400 G3/4.. 14 SD80 63
FAS 5L RE:
SR - 3330 y
InEEHS Mark
+E Length
JJ#FE 1] Diameter
JEEZTIK Cartridge



®
<5 O-N-W B T A

PFEERMRZETIFF  DAMPING TURNING TOOL HOLDER

1 1 2 X0
S1001 ONIdWYa

\
/

LF

® JILFERM
JIFERE REMEMER &R 7] sk
DCON1 DCON CARTRIDGE
SD80-C100-1100V 100 80 1100 G3/4.. 7 SD80 63.4
-1500V 100 80 1500 G3/4.. 10 SD80 86.8
-C120-1900V-R/L 120 80 1900 G3/4.. 10 SD80 134
-C130-2000V-R/L 130 80 2000 G3/4.. 10 SD80 192.3
-C140-2200V-R/L 140 80 2200 G3/4.. 10 SD80 241.5
-C150-2400V-R/L 150 80 2400 G3/4.. 10 SD80 252.6
-C160-2600V-R/L 160 80 2600 G3/4.. 10 SD80 339.3
-C180-2800V-R/L 180 80 2800 G3/4.. 10 SD80 458.2
-C200-3200V-R/L 200 80 3200 G3/4.. 10 SD80 657.7
-C220-3450V-R/L 220 80 3450 G1.. 10 SD80 1059.3
-C250-4000V-R/L 250 80 4000 G1.. 10 SD80 1229
R ER:

SD8OE - -W- q!
Al £ Right/Left

IhEES Mark
K Length
JIFFE1Z Diameter
J&EEZ Tk Cartridge




®
JE/E i 17 77 8 <5 O-N-W

-HRIMIEZETIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\|
/

LF

® JILERM
JIFER REMER KE bET IS
DCON1 DCON LF CARTRIDGE
SD80-C100-1560VE 100 80 1560 G3/4.. 12 SD80 117.6
-1760VE 100 80 1760 G3/4.. 14 SD80 133.3
-C120-1870VE-R/L 120 80 1870 G3/4.. 12 SD80 215.7
-2110VE-R/L 120 80 2110 G3/4.. 14 SD80 248.6
-C130-2030VE-R/L 130 80 2030 G3/4.. 12 SD80 271.4
-2290VE-R/L 130 80 2290 G3/4.. 14 SD80 312.3
-C140-2190VE-R/L 140 80 2190 G3/4.. 12 SD80 336.7
-2470VE-R/L 140 80 2470 G3/4.. 14 SD80 386.8
-C150-2350VE-R/L 150 80 2350 G3/4.. 12 SD80 397.2
-2650VE-R/L 150 80 2650 G3/4.. 14 SD80 472.4
-C160-2510VE-R/L 160 80 2510 G3/4.. 12 SD80 497.5
-2830VE-R/L 160 80 2830 G3/4.. 14 SD80 571.2
-C180-2830VE-R/L 180 80 2830 G3/4.. 12 SD80 559.7
-3190VE-R/L 180 80 3190 G3/4.. 14 SD80 642.6
-C200-3150VE-R/L 200 80 3150 G3/4.. 12 SD80 621.9
-3550VE-R/L 200 80 3550 G3/4.. 14 SD80 714.3
-C220-3470VE-R/L 220 80 3470 G3/4.. 12 SD80 684.1
-3910VE-R/L 220 80 3910 G3/4.. 14 SD80 785.7
-C250-3950VE-R/L 250 80 3950 G3/4.. 12 SD80 777.4
-4450VE-R/L 250 80 4450 G3/4.. 14 SD80 892.8
FRAG 5 BA:
SD8OK - - -E?!
T ? A/ Right/Left
IhEERS Mark
E Length
JIFFE & Diameter
JEBRTIk Cartridge



<5 0-N-w®

HBEm#IIR

-IEB 95° 1§ ] 3L

POSITIVE TYPE 95° BORING

>

B
e <
%z
&3
g
B

KAPR
WF >
(%] } 8
LF {
L]
DGON
BS KE ZEREER e pietEs| BE abay g
Model LF DCON WF DMIN KARP Insert KG

SD16-SCLCR-06 20 16 1 20 95° CC*0602%* 0.03
$D20-SCLCR-09 20 20 13 25 95° CCH09T3** 0.05
SD25-SCLCR-09 20 25 17 32 95° CCH9T3* 0.07
SD32-SCLCR-09 32 32 22 40 95° CCH9T3* 013
SD40-SCLCR-12 38 40 27 50 95° CC*1204% 0.24
SD16-SCLCL-06 20 16 1 20 95° CC*0602** 0.03
$D20-SCLCL-09 20 20 13 25 95° CCH09T3* 0.05
$D25-SCLCL-09 20 25 17 32 95° CCH9T3* 0.07
SD32-SCLCL-09 32 32 22 40 95° CCH9T3* 013
SD40-SCLCL-12 38 40 27 50 95° CC*1204% 0.24

&4

SPARE PARTS

W screw  REEF T NHigE PES TN
Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SCLCR/L-06 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*8
SD25 SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*9
SD32 SCLCR/L-09 SR21-M4*0.7P*9 T15 = = = D6-5*11
SD40 SCLCR/L-12 SR21-M5*0.8P*12 T20 ST01-CC12*2.8 | SRT-M7-M5*13 KEY01-M3 D6-5*11

AR RA:

J&BZJJ3k Cartridge

I INEER S Mark

wﬂﬁf Insert

/A Right/Left




®
JE/E 7 T A <5 O-N-W

-IEBY 93°1F & ]Sk POSITIVE TYPE 93° BORING

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

DCON
BS KE ZEEER alIAY:: SBE RE Vi) 3
Model LF DCON WF DMIN KARP Insert KG

SD16-SDUCR-07 20 16 11 20 93° DC**0702** 0.03
SD20-SDUCR-11 20 20 13 25 93° DC**1173** 0.05
SD25-SDUCR-11 20 25 17 32 93° DC**1173** 0.07
SD32-SDUCR-11 32 32 22 40 93° DC**11T3** 013
SD40-SDUCR-11 32 40 27 50 93° DC**1173** 0.2
SD16-SDUCL-07 20 16 11 20 93° DC**0702** 0.03
SD20-SDUCL-11 20 20 13 25 93° DC**1173** 0.05
SD25-SDUCL-11 20 25 17 32 93° DC**11T3** 0.07
SD32-SDUCL-11 32 32 22 40 93° DC**1173** 013
SD40-SDUCL-11 32 40 27 50 93° DC**1173** 0.2

‘ §'1¢ SPARE PARTS

B screw  REEF JIE NdigE THEF O EH
Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SDUCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*8
SD25-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*9
SD32-SDUCR/L-11 SR21-M4*0.7P*11 T15 STO01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
AR RA:

mJj)fr Insert

A/ Right/Left
IhEERS Mark
J&EBRTIk Cartridge



®
<5 O-N-W B T A

-IEBY O3°TF#E{FR. Tk POSITIVE TYPE 93° BORING AND PROFILE-TURNING

WF
KAPR W

B
e <
%z
&3
g
B

o B
LF
DCON
BE KE REFMBER e SBE fE TE =B
Model LF DCON WF DMIN KARP Insert (€]

SD20-SVUCR-11 20 20 15 27 93 E VC**1103** 0.05
SD25-SVUCR-11 20 25 18 33 93 & VC**1103** 0.06
SD20-SVUCL-11 20 20 15 27 93 E VC**1103** 0.05
SD25-SVUCL-11 20 25 18 33 93 E VC**1103** 0.06

‘ §1¢ SPARE PARTS

S5 Model 124 Screw HERIRFE Wrench EAIHH Locating pin
SD20-SVUCR/L-11 SR21-M2.5%0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*9

A% RA:

T @ TIE Insert
A/ Right/Left

INEES Mark
JEBZJ]3k Cartridge




DAMPING

s ®
e ey <5 O-N-W

° IEEE 9 5°Eiﬁﬁﬁ§ﬂ % POSITIVE TYPE 95° BORING AND PROFILE-TURNING

>

<]
=
i
i
7
i=1

o
>
=
=
=
5]
=
o
o
=
«n

\
/

&
LF
l’.‘:’
DCON
Bs KE ZRHEBERR thilME SEE RE Vil =
Model LF DCON WF DMIN KARP Insert KG
SD32-SVLBR-16 32 32 22 40 95 E VC**1604** 013
SD40-SVLBR-16 32 40 27 50 95 E VC**1604** 0.19
SD32-SVLBL-16 32 32 22 40 95 E VC**1604** 013
SD40-SVLBL-16 32 40 27 50 95 E VC**1604** 0.19

° §1¢ SPARE PARTS

B screw  REEF YA kLt NERF T
— Wrench Shim Sleeve for shim  Allen key for shim Locating pin
SD32-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
FAERA:

$7j F Insert
A /Z Right/Left
IhEERS Mark

&R/ JJ3k Cartridge



<5 0-N-w®

-IE® 62.5°(5 2 7] 3k

HBEm#IIR

POSITIVE TYPE 62.5° PROFILE-TURNING

< WF of

KAPR %&

T (%) ‘ =N

LPR | |
!
“"DCON

Bs KE REEEE .. o, TOE  BE fE nE Er
Model LF DCON WF DMIN KARP Insert (€]
SD16-SDXCR-07 15 16 18.8 13 22 62.5° DC**0702** 0.03
SD20-SDXCR-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCR-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCR-11 20 32 28 22 40 62.5° DC**11T3** 0.12
SD40-SDXCR-11 20 40 28 27 50 62.5° DC**11T3** 0.18
SD16-SDXCL-07 15 16 18.8 13 22 62.5° DC**0702** 0.03
SD20-SDXCL-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCL-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCL-11 20 32 28 22 40 62.5° DC**11T3** 012
SD40-SDXCL-11 20 40 28 27 50 62.5° DC**11T3** 0.18

&4

SPARE PARTS

B screw  EEF TBEE DERF B

Wrench Sleeve for shim Allen key for shim Locating pin
SD16-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*8
SD25-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5%9
SD32-SDXCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SDXCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11

FA& 5 ER:
mﬂ)ﬂr Insert
A/ Right/Left
IhEEXS Mark

&HE2JIk Ccartridge




®
JE/E 7 T A <5 O-N-W

-IEBY 93°/7 ¢ JISk  pOSITIVE TYPE 93° BACK BORING

A
B
i W
a HE | b
27 KAPR /67
= LPR T i
LLF ‘
DCON
B KE REAEE . p; PUE B B Nk e
Model LF DCON WF DMIN KARP Insert (€]
SD16-SDZCR-07 15 16 26.6 13 22 93° DC**0702** 0.03
SD20-SDZCR-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCR-07 15 25 26.6 18 33 93° DC**0702** 0.06
SD32-SDZCR-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCR-11 20 40 37 27 50 93° DC**11T3** 0.22
SD16-SDZCL-07 15 16 26.6 13 22 93° DC**0702** 0.03
SD20-SDZCL-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCL-07 15 25 26.6 18 33 93° DC**0702** 0.06
SD32-SDZCL-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCL-11 20 40 37 27 50 93° DC**11T3** 0.22

&1 spare ParTS

B screw  EEF AL pEL PES TS N
Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SDZCR/L-07 SR21-M2.5%0.45P*5 T8 = = = D4-3*7
SD20-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*8
SD25-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*9
SD32-SDZCR/L-11 SR21-M4*0.7P*11 T15 STO01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
SD40-SDZCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
AR LRA:

mﬂ#{ Insert
A/ Right/Left
IhEEXS Mark

J&EBRTIk Cartridge



<5 0-N-w®

HBEm#IIR

-IEB 91°IEf# T] L

POSITIVE TYPE 91° PROFILE-TURNING

——
KAPR
“WF

8/ |

LF !

|

e
DCON

BS KE  REEEE .o 08 ) Tk 8
Model LF DCON DMIN KARP Insert KG
SD16-STFCR-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCR-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCR-11 20 20 13 25 91° TC**1102** 0.04
SD25-STFCR-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCR-16 32 32 22 40 91° TC*16T3** 0.14
SD40-STFCR-16 32 40 27 50 91° TC*16T3** 0.21
SD16-STFCL-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCL-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCL-11 20 20 13 25 91° TC**1102** 0.04
SD25-STFCL-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCL-16 32 32 22 40 91° TC**16T3** 0.14
SD40-STFCL-16 32 40 27 50 91° TC*16T3** 0.21

&4

SPARE PARTS

IS Model 1842 Screw HEERF Wrench E{IH Locating pin
SD16-STFCR/L-09 SR21-M2.2*0.45P*5.5 T7 D4-3*7
SD16-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D4-3*7
SD20-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*8
SD25-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5%9
SD32-STFCR/L-16 SR21-M4*0.7P*9.5 T15 D6-5*11
SD40-STFCR/L-16 SR21-M4*0.7P*9.5 T15 D6-5*11

MR EER:

? @ﬂ)ﬂr Insert
A/ Right/Left
108

BE1LS Mark
i&HE2JI3k Cartridge

>

B
&
i
7
1=l

\
/

o
>
=
=
=
[}
4
o
o
=
w0




®
JE/E 7 T A <5 O-N-W

-fA Bl o5° F & J] 3L NEGATIVE TYPE 91° PROFILE-TURNING

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

|
|
i
m
DCON

W N
=
KAPR
/
LF
ne KE  RREHE g0, B 2 AE K &8
Model LF DCON DMIN KARP Insert KG
SD32-DWLNR-06T 32 32 22 40 95 E WN**0604** 0.11
SD32-DWLNR-08T 36 32 24 46 95 & WN**0804** 012
SD40-DWLNR-08T 36 40 27 50 95 E WN**0804** 0.23
SD32-DWLNL-06T 32 32 22 40 95 E WN**0604** 0.11
-08T 36 32 24 46 95 E WN**0804** 012
SD40-DWLNL-08T 36 40 27 50 95 E WN**0804** 0.23

° g’# SPARE PARTS

R EAREE EARIZET PAE: FERIRF TBHREE]  TIBRRF  EUE

Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DWLNR/L-06T | PBTODDN11 YH7*0.6*13 SR59M4*16 STO1WNO06*3.18 KEY01-M2.5 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11
SD32-DWLNR/L-08T | PB10ODCN12 YH8*0.6%13 SR59M5*20 STOT1WNO08*3.18 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DWLNR/L-08T | PB1ODCN12 YH8*0.6*13 SR59M5*20 STOTWNO08*6.35 KEY01-M3 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11

MR GEER:

@ J1H Insert
/% Right/Left
IhEEXS Mark

1&HED 773k Cartridge



<5 0-N-w®

-IER 93° R $E(AAC T) 3k POSITIVE TYPE 93° BACK BORING PROFILE-TURNING

HBEm#IIR

B
e <
%z
&3
g
B

N
O

\ O O
\ /
N %

ns KE ZEEEE 2K - T T
Model LF DCON LPR WF DMIN KARP KG
SD20-SVUCR-11 15 20 27 20 32 93° VC**1103** 0.05
SD25-SVUCR-11 15 25 27 22 37 93° VC**1103** 0.08
SD20-SVUCL-11 15 20 27 20 32 93° VC**1103** 0.05
SD25-SVUCL-11 15 25 27 22 37 93° VC**1103** 0.08

‘ %14: SPARE PARTS

AE Model 1242 Screw AR F Wrench SE{U$H Locating pin
SD20-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*9

S RA:
@IIH' Insert
A/ Right/Left
IhEEXS Mark
&BEJI3k Cartridge




®
BB A B O-N-W

- B 95° F§¥ J] sk NEGATIVE TYPE 95° BORING

A
FE
ik "
R KAPR
g I . N
e 7] :
"B !
LF & )
DCON
iR KE REEBER iR EE RE yilay =
Model LF DCON WF DMIN KARP Insert KG
SD32-DCLNR-12 38 32 22 40 95° CN**1204** 0.17
SD40-DCLNR-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNR-16 40 40 32 57 95° CN**1606** 0.32
SD40-DCLNR-19 42 40 34 57 95° CN**1906** 0.33
SD32-DCLNL-12 38 32 22 40 95° CN**1204** 0.17
SD40-DCLNL-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNL-16 40 40 32 57 95 & CN**1606** 0.32
SD40-DCLNL-19 42 40 34 57 95 CN**1906** 0.33

‘ ﬁ'{q: SPARE PARTS

FEAR EfREE FEARRET PaE:S ERIRF THRGREET  JIRRF  EUH
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DCLNR/L-12 | PBT10ODCN12 YH8*0.6*13 SR59M5*20 STOTCN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L-12 | PBT1ODCN12 YH8*0.6*13 SR59M5*20 STOTCN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L-16 | PBT10DCN16 YH9*0.8*14 SR59M6*26.5 STO1CN16*3.2 KEY01-M4 = KEY02-T20 =

SD40-DCLNR/L-19 | PB10DCN19 = = - - - = =

MRS RA:

E TIE Insert
A/ Right/Left
IngefXS Mark

&R/ JI3k Cartridge



<5 0-N-w®

HBEm#IIR

- B 93°IF#E{HAZ Ik

NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

B
" e
KAPR =
w3
Je
’E\_ 1%
LF
DGON
k=3 KE REBER £K ==Y SEE RE S e E3
Model LF DCON LPR WF DMIN KARP (€]
SD40-DVUNR-16 20 40 38.5 34 56 93 E VN**1604** 0.26
SD40-DVUNL-16 20 40 38.5 34 56 93 E VN**1604** 0.26

° §1¢ SPARE PARTS

FER

EfREE

FEARIRET

DAk

ERIRF

ZBRPRIZTT  TIRRF  ENHE

Clamping pad  Spring for clampin pad Screw for clampin pad

SD40-DVUNR/L-16| PB10DVN16

YH9*0.8*14

SR59M6*26.5

STOTVN16*3.2

Shim

KEY01-M4

SR20-M3.5%0.6P*8.5

KEY02-T10

Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin

D6-5*11

MR-

T‘ﬁ/& Right/Left
IhEEXS Mark

&R/ZJJ3k Cartridge

TIE Insert




DAMPING

s ®
e ey <5 O-N-W

AR 93°FEFA Ik NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

>

<]
=
i
i
7
i=1

o
>
=
=l
=z
(9}
-
o
o
=
n

\
/

BS KE REKEER it iE SEE RE B et £
Model LF DCON WF DMIN KARP KG
SD32-DDUNR-11 32 32 22 40 93° DN**1104** 013
SD40-DDUNR-15 32 40 27 50 93° DN**1506** 0.21
SD32-DDUNL-11 32 32 22 40 93° DN**1104** 013
SD40-DDUNL-15 32 40 27 50 93° DN**1506** 0.21

‘ §1¢ SPARE PARTS

ER EREE EARIRET & ERIRF TEBRYPRRE]  JNRRF  EuUH

Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DDUNR/L=-11 | PB10DDN11 YH7*0.6*13 SR59M4*16 STOTDN11*3.18 KEY01-M2.5 SR21-M4*0.7P*9.5 KEY02-T15 D6-5*11
SD40-DDUNR/L-15| PB1ODCN12 YH8*0.6*13 SR59M5*20 STOTDN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15 D6-5*11

MR-

E TIE Insert
/7 Right/Left
INEER S Mark

&R/ZJJ3k Cartridge



<5 0-N-w®

HBEm#IIR

DAMPING

B2 iR

TOOLS

-IE® 95°1F§E ] 3L

POSITIVE TYPE 95° BORING

>

[R
. IZE
e i );E §
/ X =
i B
3 : 4‘ b =
T 7 i T EEE—
Q .
\ / !
w \ } /
= \~ [ | ] ’/
\ — /
E" AN a
/S |© /S 7
E DMIN e Rk
]
= KE ZEAER $ubdE SBE EE aE kR 5
Model LF DCON WF DMIN H KARP Insert (€]
SD80-SCLCR-12 45 80 57 100 375 95° CC**1204** 0.55
SD80-SCLCL-12 45 80 57 100 375 95° CC**1204** 0.55

&

SPARE PARTS

ER

Clamping pad

ERREE

Spring for clampin pad Screw for clampin pad

FEARIZET ERIRF

Allen key for clampin pad

TIBGUREET

Clamping screw for shim

JBIRF

Allen key for shim

SD80-SCLCR/L-12 | PB10ODCN12 | YH8%0.6*13

SR59M5*20 [STO1CN12*3.2 KEY01-M3

SR20-M5*0.8P*10 | KEY02-T20

RIS RA:
@ TIE Insert

SD8O &
£/ Right/Left
IhEERS Mark

&BZJJ3k Cartridge




®
JE/E 7 T A <5 O-N-W

-8 95°1F & J] 5L NEGATIVE TYPE 95° BORING

Y
>
5 DNIN
g i l— WF .
g Ik ~ LT
§7 KAPR y N
B / | \,
i‘ / \
! / ‘ \
| \ {
LF . l
. A AT
1 \, ‘ ’/
: \ 1 /, [
\‘ ! '/
DCON N y
\\ //
= KE ZEAER B SBE EE aE kR 5
Model LF DCON WF DMIN H KARP Insert (€]
SD80-DCLNR-12 45 80 57 100 375 95° CN**1204** 0.56
SD80-DCLNR-16 45 80 57 100 375 95° CN**1606** 0.6
SD80-DCLNL-12 45 80 57 100 375 95° CN**1204** 0.56
SD80-DCLNL-16 45 80 57 100 375 95° CN**1606** 0.6

‘ §'1¢ SPARE PARTS

ERR ERRGEE EMRIRET PaE: ERIRF TIBHERERET TNERF

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim

SD80-DCLNR/L-12 | PBTODCN12 | YH8*0.6*13 SR59M5*20 [STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 | KEY02-T20

SD80-DCLNR/L-16 | PBTIODCN16 | YH9*0.8*14 | SR59M6*26.5 |STOT1CN16*3.2 KEY01-M4 = KEY02-T20

MR-

SD8OR - - [F
TIE Insert
A/ Right/Left
IhEEXS Mark

&R/ZJJ3k Cartridge



®
<5 O-N-W B T A

AR 93°FEFA Ik NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

>

S100L1 ONIdWYa

i i 2, 0

\
/

; \ ; /
DCON N /
N -
= KE ZEAER $ubdE SBE BE RE by 5=
Model LF DCON WF DMIN H KARP Insert (€]
SD80-DDUNR-15 45 80 57 100 375 93° DN**1506** 0.55
SD80-DDUNL-15 45 80 57 100 375 93° DN**1506** 0.55

‘ §1¢ SPARE PARTS

ER AR E FEARIZET & ERIRF TBYRRET  JIRIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad ~ Clamping screw for shim  Allen key for shim
SD80-DDUNR/L-15X | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
> .
AR BA:

SD8OE - - @
JIE Insert
/K Right/Left

IheeRS Mark
i&HE2JI3k Cartridge




®
JE/E 7 T A <5 O-N-W

oA S
KB 93° JRE(RA ISk NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING
g W j s
2 N
AN
! N\
| T
KAPR & | \
LPR _¢ ‘ H
LF 7!
| - ;
i ) /
DCON L 7
me KE ZEEEE 2k GoE  BE B TIE 5
Model LF DCON LPR WEF DMIN H KARP Insert KG
SD80-DDUNR=-15X 20 80 45 57 100 37.5 93° DN**1506** 0.55
SD80-DDUNL-15X 20 80 45 57 100 37.5 93° DN**1506** 0.55

‘ §'1¢ SPARE PARTS

ER EMREE EARIRET PaE: ERIRF TIEFURIRET TRRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim Allen key for shim
SD80-DDUNR/L-15X | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
M EER:
SD8O B
73 F Insert

E/E Right/Left
INEER S Mark
J&HEZJJ3k Cartridge



<5 0-N-w®

HBEm#IIR

AR 62.5°{F 2Tk

NEGATIVE TYPE 62.5° BORING AND PROFILE-TURNING

iz
s
WF - ne
~. =l o
KAPR \\\ =
!
LPR | '
LF |
l | | | I
DCON . J
\‘ '/
\‘ '/
B KE ZEMER 2K = =TY:] SBE BE RE by BE
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DDXNR-15 25 80 40.3 57 100 37.5 62.5 DN**1506** 0.5
SD80-DDXNL-15 25 80 40.3 57 100 37.5 62.5 DN**1506** 0.5

&

SPARE PARTS

EAR EfREE

Clamping pad  Spring for clampin pad

Pak:S

Shim

ERIRF TIEIRIRE] JIBIRF

Allen key for clampin pad  Clamping screw for shim  Allen key for shim

FEARIZET

Screw for clampin pad

SD80-DDXNR/L-15 | PB10DCN12 YH8%0.6*13

SR59M5*20 STO1DN15%4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15

AR IRA:
? $7]H' Insert
=)

SD8OK
£ Right/Left
W

REALS Mark
J&BZJJ3k Cartridge

=>A23



®
JE/E 7 T A <5 O-N-W

‘ ﬁ g! 930&@%%” % NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

WF ‘
\‘\
=~ ~\«
| \
KAPR | ! (
LPR ﬁ(i i LF
LF :
l | ' | ]! [
|
' \ /
DCON N .
~N e
S KE ZEEER K ==lY i) SBE EE fAE R £
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DVUNR-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55
SD80-DVUNL-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55

‘ ﬁ'{q: SPARE PARTS

EAR EMR3EE EARIRET Ak BERIRF PESE) TIBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DVUNR/L-16X | PB10DVN16 YH9*0.8*14 SR59M6*26.5 STOTVN16*3.2 KEY01-M4 SR20-M3.5%0.6P*8.5 KEY02-T10
hf .
AR RA:

RN - - - @
TIE Insert
A/ Right/Left
I

BELS Mark
J&BZJJ3k Cartridge



®
<5 O-N-W B T A

-IEB 93°F$E{Ac JI sk POSITIVE TYPE 93° BORING AND PROFILE-TURNING

>

=/ [
b
- O
]
=
T
N
AN
\
\
\
|
/
/
/
Ve
M SRR
ST100L SNIdWva

/

[ o :
\ I
] 1 | \ \ f' l
' \ 7/
DCON \ /
AN Ve
B KE ZRERER $ubdE SEE EE RE TR E3
Model LF DCON WF DMIN H KARP Insert (€]
SD80-SDUCR-11 45.7 80 57 100 37.5 93° DC**11T3** 0.55
SD80-SDUCL-11 45.7 80 57 100 37.5 93° DC*11T3** 0.55

&

SPARE PARTS

= HEMRF TIREE TIBARF
= Model . :
Wrench Sleeve for shim Allen key for shim
SD80-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 SRT-M6-M4*6.9 KEY01-M4
KA 5 ER:

RN - - B - [F
JIE Insert
A/ Right/Left
RS Mark

J&BZJJ3k Cartridge




®
JE/E 7 T A <5 O-N-W

-IEE 95°F (AL J] 3k POSITIVE TYPE 95° BORING AND PROFILE-TURNING

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

|
DCON

|

|

|

|

WF

BS KE ZEEER OB SEE EE AE AR E
Model LF DCON WF DMIN H KARP Insert KG

SD80-SVLCR-16T 45 80 57 100 37.5 95° VC**1604** 0.44

SD80-SVLCL-16T 45 80 57 100 37.5 95° VC**1604** 0.44

° g’#l: SPARE PARTS

= MEERF TEE TIRIRF
S Model . .
Wrench Sleeve for shim Allen key for shim
SD80-SVLCR/L-16T SR21-M4*0.7P*11 T15 ST01-CC16*2.82 SRT-M6-M4*6.9 KEY01-M4
KA 5 ER:

RN - - 2 - @
JIF Insert
A/ Right/Left
I

RS Mark
J&BZJJ3k Cartridge



5 O0-N-w®

-#5J1J7J3k  GROOVING HEAD

>

B
e <
%z
&3
78
B

-1 &
e A
=
L, ©
.
W —lLr,
BS KE REKHEER ohi\iE EE rE% ks £
Model LF DCON WF DMIN w Insert KG
SD25-GIR/L-2 14 25 17.5 31 2 HG2002 0.45
-3 14 25 17.5 31 3 HG3003 0.45
SD32-GIR/L-2 18 32 20 37 2 HG2002 0.45
-3 18 32 20 37 B HG3003 0.45
SD40-GIR/L-2 18 40 24 45 2 HG2002 0.45
-3 18 40 25 46 3 HG3003 0.45
-4 18 40 28 49 4 HG4004 0.45
° §'1¢ SPARE PARTS
S Model 1222 Screw HERIRFE Wrench EfI$H Locating pin
SD25-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*9
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*9
SD32-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5%11
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
SD40-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11
-4 SR55-M4*0.7P*12 KEY01-M3 D6-5*11

MR EER:

? J1K Insert
A/ Right/Left
IhEE S Mark

IEER 7]k Cartridge




®
JE/E 7 T A <5 O-N-W

° 939‘(7] % THREADING TOOL CARTRIDGE

A

|
iR
87
— sk
L
T
LF
= KE REMER ==l Y] SBE yaba3 EE
Model LF DCON WEF DMIN Insert KG
SD20-SIR/L-16 25 20 14 25 16IR/L 0.04
SD25-SIR/L-16T 25 25 17 32 16IR/L 0.05
SD32-SIR/L-16T 32 32 22 40 16IR/L 0.11
SD32-SIR/L-22T 32 32 22 40 22IR/L 0.11
SD40-SIR/L-16T 32 40 27 50 16IR/L 0.17
SD40-SIR/L-22T 32 40 27 50 22IR/L 0.17

‘ g’#l: SPARE PARTS

MEEURF NBEE I
Wrench i Sleeve for shim Locating pin
SD20-SIR/L-16 SR20-M3.5*0.6P*11.5 KEY02-T10 * * D6-5*9
SD25-SIR/L-16T SR20-M3.5%0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*9
SD32-SIR/L-16T SR20-M3.5%0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD32-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11
SD40-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD40-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11
FIAE 35t R
? @ T Insert
T /K Right/Left
BER S Mark
T AES Cartndge



<5 0-N-w®

HBEm#IIR

LR IE IR

CENTRE CALIBRATION BLOCK

= L A | = B e

|

i

i
[ i v

LF H
BS KE ZEEER EE H £k
Model LF DCON DMIN KG
SDXZ16-25 14 25 28 22 0.05
SDXZ32-60 25 60 62 52 0.45

B
e <
%z
&3
g
B

\
/




®
JE/E 7 T A <5 O-N-W

'Bﬂﬁ;m?ﬁﬂﬁgﬁﬁ g?éﬁ DAMPING TOOL SLEEVE

A

|

zfe

& ]

:_ ___________
Ol *I ““““““ 2
|
L1l L
M%cil D D1 d L L1 25 KG

SD32-16-65 36 32 16 65 5
SD32-20-65 36 32 20 65 5
SD32-20-85 38 32 20 85 5
SD40-16-75 44 40 16 75 5
SD40-20-75 44 40 20 75 5
SD40-20-105 46 40 20 105 5
SD40-25-75 44 40 25 75 5
SD40-25-105 46 40 25 105 5
SD40-32-128 50 40 32 128 5
SD50-20-125 56 50 20 125 5
SD50-25-125 56 50 25 125 5
SD50-32-128 60 50 32 128 5
SD50-40-160 60 50 40 160 5
SD60-32-128 70 60 32 128 5
SD60-40-160 70 60 40 160 5
SD60-50-200 70 60 50 200 5




DAMPING

® i
<5 O-N-W BERFETA L

-BEMATJEE  CONVERSION TOOL HOLDER

>

o
>
=
=
=
[}
4
o
o
=
w0

5]
e
i
i
7]
B

[ A0, 1] g
I =C=0p
D—o ]
DCON
I
! LF
| |
O O
DCON1

TREBER
DCON

SD80-23-40R/L 23 80 40 37.5 70 0.3

KE LF




®
BB A B O-N-W

358 JJEE  CONVERSION TOOL HOLDER

>

<]
=
i
i
7
i=1

o
>
=
=l
=z
(9}
-
o
o
=
n

\
/

| LF
DCONT
REEER REEER
DCON DCONT1
SD80-20-20-40R 20 80 40 37.5 20 0.8
SD80-20-30-40R 20 80 40 37.5 30 1.1




DAMPING

® i
<5 O-N-W BERFETA L

53R JIE  CONVERSION TOOL HOLDER

A
HEN
LF ez
. &3
1 [ —1 Je
! B

O

\\ /\ // — . RADH
O |
< DCON —
[ ) T
LPR
© © O |
— WF —— WF —!

SD80-20%20 80 37.5 40 20 38.5 20 77 56 0.7




®
JE/E 7 T A <5 O-N-W

‘HSK63A-FMHC JHR IR HR$EJIM  Hske3A-FMHC DAMPING MILLING TOOL HOLDER

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

#& Model

HSK63A-FMHC16-150-D37 199 |150( 124 | 26 |17 | 63 | 40| 37 | 16 | 3.2 | 8 M8*1.25P 1
-200-D37 249 (200|174 | 26 [17| 63 |40 |37 | 16| 3.2 | 8 M8*1.25P 1
-250-D37 299 250|224 | 26 [17| 63 |40 |37 | 16| 3.2 | 8 M8*1.25P 1
-300-D37 349 |300| 274 | 26 |17| 63 |40 | 37 |16 | 3.2 | 8 M8*1.25P 1
-350-D37 399 |350( 324 | 26 (17| 63 |40 |37 |16 | 3.2 | 8 M8*1.25P 1

-FMHC22-150-D47 200 (150|124 | 26 [17| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-200-D47 250 (200|174 | 26 [17| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-250-D47 300 | 250|224 | 26 |18 | 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-300-D47 350 |300| 274 | 26 |18 | 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-350-D47 400 350|324 | 26 [18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-400-D47 450 (400|374 | 26 [ 18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-450-D47 500 | 450|424 | 26 | 18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-500-D47 550 [500|474 | 26 |18| 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P 1

-FMHC27-200-D60 252 |200| 174 | 26 [20| 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-250-D60 302 | 250|224 | 26 |20 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-300-D60 352 |300| 274 | 26 |20 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-350-D60 402 350|324 | 26 [20| 63 | - | 60| 27 | 5.8 | 12 M12*1.75P 2
-400-D60 452 400|374 | 26 [20| 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-450-D60 502 | 450|424 | 26 |20 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-500-D60 552 |500| 474 | 26 |20 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2

MR

T WDHE’Z Diameter
T L1 K E Length (L1)
£ Bore diameter of cutter
BEtES Holder type
HARA

Y Shank size



®
<5 O-N-W B T A

-HSKT100A-FMHC [EfR i@ ¥R$%JJ#®  Hsk100A-FMHC DAMPING MILLING TOOL HOLDER

iz]
S
hiE

L =N

H

-| O - ‘—M'UI(S

H

L4

#M1& Model L L1 L2 L3 L4 D DI D2 d K1 K2 M EEKG

HSK100A-FMHC16-200-D37 267 200 (171 | 29 |17 | 100 40 [ 37 |16 | 3.2 | 8 M8*1.25P
-250-D37 317 250 | 221 | 29 |17 | 100 40 | 37 |16 | 3.2 | 8 M8*1.25P

-300-D37 367 300 (271 29 [ 17| 100 | 40 |37 |16 | 3.2 | 8 M8%*1.25P

-350-D37 417 350 32129 [17| 100 | 40 |37 |16 | 3.2 | 8 M8%*1.25P

-FMHC22-200-D47 268 200 (171 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-250-D47 318 250 | 221 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-300-D47 368 300 |271 | 29 |18 | 100 50 | 47 | 22 | 4.8 | 10 M10*1.25P

-350-D47 418 350 | 321 29 [ 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P
-400-D47 468 400 | 371 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-450-D47 518 450 | 421 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-500-D47 568 500 | 471 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-550-D47 618 550 | 521 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-600-D47 668 600 |571 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-650-D47 718 650 | 621 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-700-D47 768 700 | 671 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D58 318 250 | 221 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-300-D58 368 300 (271 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-350-D58 418 350 | 321 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-400-D58 468 400 | 371 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-450-D58 518 450 | 421 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-500-D58 568 500 | 471 | 29 (18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-550-D58 618 550 | 521 | 29 (18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-600-D58 668 600 |571 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-650-D58 718 650 |621 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-700-D58 768 700 | 671 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

MR GLRR:

? %HE’Z Diameter
T L1 ¥ E Length (L1)
#% [ H7& Bore diameter of cutter
eSS Holdertype
AR

Eam Shank size




B/ #EIIR

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

-HSK100A-FMHC [B B R 1 %t 71 4

<5 0-N-w®

HSK100A-FMHC DAMPING MILLING TOOL HOLDER

##& Model L L1 L2 L3 L4 D D1 D2 d K1 K2 M BB KG
HSK100A-FMHC27-250-D60 320 250 | 221 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-300-D60 370 300 | 271 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-350-D60 420 350 | 321 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-400-D60 470 400 | 371 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-450-D60 520 450 | 421 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-500-D60 570 500 | 471 | 29 (20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-550-D60 620 550 | 521 | 29 (20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-600-D60 670 600 | 571 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-650-D60 720 650 | 621 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-700-D60 770 700 | 671 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-250-D74 320 250 | 221 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-300-D74 370 300 | 271 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-350-D74 420 350 | 321 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-400-D74 470 400 | 371 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-450-D74 520 450 | 421 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-500-D74 570 500 | 471 | 29 (20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-550-D74 620 550 | 521 | 29 (20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-600-D74 670 600 |571 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-650-D74 720 650 | 621 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-700-D74 770 700 | 671 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-FMHC32-250-D80 322 250 | 221 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-300-D80 372 300 | 271 | 29 | 22| 100 95 | 80|32 |68 | 14 M16*2.0P
-350-D80 422 350 | 321 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-400-D80 472 400 | 371 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-450-D80 522 450 | 421 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-500-D80 572 500 | 471 | 29 (22| 100 95 |80 |32 |68 | 14 M16*2.0P
-550-D80 622 550 | 521 | 29 (22| 100 95 |80 |32 |68 | 14 M16*2.0P
-600-D80 672 600 |571 | 29 | 22| 100 95 |80 (32|68 | 14 M16*2.0P
-FMHC40-300-D90 375 300 | 271 | 29 | 25| 100 98 | 90 | 40 | 83 | 16 M16*2.0P
-350-D90 425 350 | 321 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-400-D90 475 400 | 371 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-450-D90 525 450 | 421 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-500-D90 575 500 | 471 | 29 (25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-550-D90 625 550 | 521 | 29 (25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-600-D90 675 600 |571 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P

AR IRA:

£ Bore diameter of cutter

E JI#FE R Diameter
L1 K E Length(L1)
g S Holdertype

A2 Shank size




®
<5 O-N-W B T A

-HSK63A-CKC HJE /R #R#E JJ# Hske3A-CKC DAMPING BORING TOOL

>

1 1 2 X0
S1001 ONIdWYa

\
/

#4E Model L5 D D1 d M FIG ZEEKG

HSK63A-CKC2-150-D25 182 | 150 | 124 26 31 6.62 | 63 25 14 M5*0.5P 1
-175-D25 207 | 175 | 149 26 31 6.62 | 63 25 14 M5*0.5P 1

-200-D25 232 | 200 | 174 26 31 6.62 | 63 25 14 M5*0.5P 1

-200-D32 232 | 200 | 174 26 35 8 63 32 18 M6*0.75P 1

-230-D32 262 | 230 | 204 26 35 8 63 32 18 M6*0.75P 1

-260-D32 292 | 260 | 234 26 35 8 63 32 18 M6*0.75P 1

-300-D32 332 | 300 | 274 26 35 8 63 32 18 M6*0.75P 1
-CKC4-235-D40 267 | 235 | 209 26 39 10 63 40 22 M8*0.75P 1

-275-D40 307 | 275 | 249 26 39 10 63 40 22 M8*0.75P 1
-315-D40 347 | 315 | 289 26 39 10 63 40 22 M8*0.75P 1
-350-D40 382 | 350 | 324 26 39 10 63 40 22 M8*0.75P 1
-CKC5-315-D50 347 | 315 | 289 26 45 13 63 50 28 M10*1.0P 1
-350-D50 382 | 350 | 324 26 45 13 63 50 28 M10*1.0P 1
-400-D50 432 | 400 | 374 26 45 13 63 50 28 M10*1.0P 1
-450-D50 482 | 450 | 424 26 45 13 63 50 28 M10*1.0P
-500-D50 532 | 500 | 474 26 45 13 63 50 28 M10*1.0P
-CKC6-295-D63 327 | 295 | 269 26 55 16 63 63 36 M12*1.0P
-350-D63 382 | 350 | 324 26 55 16 63 63 36 M12*1.0P
-400-D63 432 | 400 | 374 26 55 16 63 63 36 M12*1.0P
-450-D63 482 | 450 | 424 26 55 16 63 63 36 M12*1.0P
-500-D63 532 | 500 | 474 26 55 16 63 63 36 M12*1.0P

—_

N[INININ[N| =

A EER:

@ﬂﬁﬁﬁ Diameter
L1 4 Length (L1)
O E Model number of connection
IHREFLS Holder type

$EFRAZ I Shank size




®
JE/E 7 T A <5 O-N-W

-HSKT00A-CKC f[HE IR #R#E JI#  Hsk100A-CKC DAMPING BORING TOOL

>

FIG. 1
E: 1: 10

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

#4E Model L5 D D1 d M FIG ZFEEKG
HSK100A-CKC2-160-D25 210 | 160 | 131 29 31 6.62 | 100 25 14 M5*0.5P

-185-D25 235 | 185 | 156 | 29 31 | 6.62 | 100 | 25 14 M5*0.5P

-210-D25 260 | 2710 | 181 29 31 6.62 | 100 | 25 14 M5*0.5P

-250-D25 300 | 250 | 221 29 31 6.62 | 100 | 25 14 M5*0.5P

-300-D25 350 | 300 | 271 29 31 6.62 | 100 | 25 14 M5*0.5P

-CKC3-220-D32 270 | 220 | 191 29 35 8 100 32 18 M6*0.75P

-250-D32 300 | 250 | 221 29 35 100 32 18 M6*0.75P

-280-D32 330 | 280 | 251 29 35 100 32 18 M6*0.75P

8

8
-300-D32 350 | 300 | 271 29 35 8 100 32 18 M6*0.75P
-350-D32 400 | 350 | 321 29 35 8 100 32 18 M6*0.75P

-CKC4-260-D40 310 | 260 | 231 29 39 10 100 | 40 22 M8*0.75P

-300-D40 350 | 300 | 271 29 39 10 100 | 40 22 M8*0.75P

-340-D40 390 | 340 | 311 29 39 10 100 | 40 22 M8*0.75P

-400-D40 450 | 400 | 371 29 39 10 100 | 40 22 M8*0.75P

-CKC5-310-D50 360 | 310 | 281 29 45 13 100 50 28 M10%1.0P

-355-D50 405 | 355 | 326 29 45 13 100 50 28 M10*1.0P

-400-D50 450 | 400 | 371 29 45 13 100 50 28 M10*1.0P

-450-D50 500 | 450 | 421 29 45 13 100 50 28 M10*1.0P

-500-D50 550 | 500 | 471 29 45 13 100 | 50 28 M10*1.0P

-600-D50 650 | 600 | 571 29 45 13 100 50 28 M10*1.0P

-700-D50 750 | 700 | 671 29 45 13 100 50 28 M10*1.0P

-CKC6-375-D63 425 | 375 | 346 29 55 16 100 63 36 M12*1.0P

-440-D63 490 | 440 | 411 29 55 16 100 | 63 36 M12*1.0P

-500-D63 550 | 500 | 471 29 55 16 100 | 63 36 M12*1.0P

-600-D63 650 | 600 | 571 29 55 16 100 | 63 36 M12*1.0P

-700-D63 750 | 700 | 671 29 55 16 100 | 63 36 M12*1.0P

-CKC7-450-D100 500 | 450 | 421 29 60 | 19.1 | 100 | 90 46 M20*1.5P

-500-D100 550 | 500 | 471 29 60 | 19.1 | 100 | 90 46 M20*1.5P

-600-D100 650 | 600 | 571 29 60 | 19.1 | 100 | 90 46 M20*1.5P

SR RN SN V) ) Y Pl N U DU Y U Y P [ S N Y R Y U Y Y [P [P Y Y [ Y Y

-700-D100 750 | 700 | 671 29 60 | 19.1 | 100 | 90 46 M20*1.5P

ML EA:

# % E Model number of connection

£1X S Holder type
SEFRFZ T Shank size

% JTJFFERR Diameter
L1 ¥ Length (L1)
I8

A38



®
<5 O-N-W B T A

-HSKT100A-BSTC [HEREIRIEJIHW  Hski00A-BSTC DAMPING BORING TOOL

A
iz
s
B z
EJ Rz
©: Je
” B
o I REINES
it o o 9
55 =
15) 1 .10
##& Model L2 D E= KG
HSK100A-BSTC-400 460 400 371 100
=450 510 450 421 100
-500 560 500 471 100
-600 660 600 571 100
-700 760 700 671 100
A% RE:

E L1 4 Length (L1)
IEE{X S Holder type
$EFRAZ T Shank size




5 O0-N-w®

>
T
n
A
(e
w
>
wn
=
m
A
i
ol
=
=1
b
b

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

HSK63A-SNER DAMPING BORING TOOL

Ol

#HE Model D2 X#%FEE Range Z=E KG
HSK63A-SNER25-180-D38 202 180 154 26 63 38 40 1-16 mm
-230-D38 252 230 204 26 63 38 40 1-16 mm
-280-D38 302 280 254 26 63 38 40 1-16 mm
-330-D38 352 330 304 26 63 38 40 1-16 mm
-380-D38 402 380 354 26 63 38 40 1-16 mm
-430-D38 452 430 404 26 63 38 40 1-16 mm
-500-D38 522 500 474 26 63 38 40 1-16 mm
-SNER32-180-D48 202 180 154 26 63 48 50 2-20 mm
-230-D48 252 230 204 26 63 48 50 2-20 mm
-280-D48 302 280 254 26 63 48 50 2-20 mm
-330-D48 352 330 304 26 63 48 50 2-20 mm
-380-D48 402 380 354 26 63 48 50 2-20 mm
-430-D48 452 430 404 26 63 48 50 2-20 mm
-500-D48 522 500 474 26 63 48 50 2-20 mm

A& ER:

T f JJ#FE1R Diameter
&% A S Collect model
%

SefHh Collect type ER

BT Shank size

L1 ¥ E Length(L1)



®
<5 O-N-W B T A

-HSKT100A-SNER fER @ #&RJJ#8  Hsk100A-SNER DAMPING BORING TOOL

>

D ol

o
>
=
=
=
[}
4
o
o
=
w0

B
&
i
7
1=l

\
/

T
B
§
L
e

I

eramany
D1

'
re

____________

L2

L1

#& Model D2 X#EBE Range  FEKG
HSK100A-SNER25-230-D38 270 230 201 29 100 38 40 1-16 mm
-280-D38 320 280 251 29 100 38 40 1-16 mm
-330-D38 370 330 301 29 100 38 40 1-16 mm
-380-D38 420 380 351 29 100 38 40 1-16 mm
-430-D38 470 430 401 29 100 38 40 1-16 mm
-480-D38 520 480 451 29 100 38 40 1-16 mm
-530-D38 570 530 501 29 100 38 40 1-16 mm
-600-D38 640 600 571 29 100 38 40 1-16 mm
-SNER32-230-D48 270 230 201 29 100 48 50 2-20 mm
-280-D48 320 280 251 29 100 48 50 2-20 mm
-330-D48 370 330 301 29 100 48 50 2-20 mm
-380-D48 420 380 351 29 100 48 50 2-20 mm
-430-D48 470 430 401 29 100 48 50 2-20 mm
-480-D48 520 480 451 29 100 48 50 2-20 mm
-530-D48 570 530 501 29 100 48 50 2-20 mm
-580-D48 620 580 551 29 100 48 50 2-20 mm
-630-D48 670 630 601 29 100 48 50 2-20 mm
-700-D48 740 700 671 29 100 48 50 2-20 mm
-SNER40-230-D58 270 230 201 29 100 58 63 2-26 mm
-280-D58 320 280 251 29 100 58 63 2-26 mm
-330-D58 370 330 301 29 100 58 63 2-26 mm
-380-D58 420 380 351 29 100 58 63 2-26 mm
-430-D58 470 430 401 29 100 58 63 2-26 mm
-480-D58 520 480 451 29 100 58 63 2-26 mm
-530-D58 570 530 501 29 100 58 63 2-26 mm
-580-D58 620 580 551 29 100 58 63 2-26 mm
-630-D58 670 630 601 29 100 58 63 2-26 mm
-700-D58 740 700 671 29 100 58 63 2-26 mm
FAg 5 BA:
@BHEE Diameter
L1 & Length (L1)
A% A S Collect model
A SEFh3E Collect type ER
AR, Shank size




B/ #EIIR

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

-SBT40-FMHC fEE iR iRk 7] 4R

5 O0-N-w®

SBT40-FMHC DAMPING MILLING TOOL HOLDER

|0 ,MUIg
L2
K1
_ ‘ ,ﬂ.o[g
g =
L2

##& Model M Fig E=ZKG
SBT40-FMHC16-150-D37 | 232.4 |150| 17 | 26 [ 124 | 63 | 40 | 37 | 16 | 3.2 | 8 | M8*1.25P | 1
-200-D37 282.4 1200 | 17 26 | 174 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-250-D37 332.4 | 250 | 17 26 | 224 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-300-D37 382.4 1300 | 17 | 26 | 274 | 63 | 40 | 37 | 16 | 3.2 8 M8*1.25P 1
-350-D37 432.4 | 350 | 17 26 | 324 | 63 40 37 16 | 3.2 8 M8*1.25P 1
-FMHC22-150-D47 | 233.4 |150| 18 | 26 | 124 | 63 | 50 | 47 | 22 | 48 | 10 | M10*1.25P | 1
-200-D47 283.4|1200| 18 26 | 174 | 63 50 | 47 22 | 48 | 10 | M10*1.25P 1
-250-D47 333.4|250| 18 26 | 224 | 63 50 | 47 22 | 48 | 10 | M10*1.25P 1
-300-D47 383.4|300| 18 26 | 274 | 63 50 | 47 22 | 48 | 10 | M10*1.25P 1
-350-D47 433.4 | 350 | 18 26 | 324 | 63 50 | 47 22 | 48 | 10 | M10*1.25P 1
-400-D47 483.4 [ 400 | 18 26 | 374 | 63 50 | 47 22 | 48 | 10 | M10*1.25P 1
-450-D47 533.4 [ 450 | 18 26 | 424 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-500-D47 583.4 | 500 | 18 26 | 474 | 63 50 | 47 22 | 4.8 | 10 | M10*1.25P 1
-FMHC27-200-D60 283.4 | 200 | 20 26 | 174 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-250-D60 333.4 | 250 | 20 26 | 224 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-300-D60 383.4 | 300 | 20 26 | 274 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-350-D60 433.4 | 350 | 20 26 | 324 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-400-D60 483.4 | 400 | 20 26 | 374 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-450-D60 533.4 | 450 | 20 26 | 424 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2
-500-D60 583.4 | 500 | 20 26 | 474 | 63 = 60 27 | 5.8 | 12 | M12*1.75P 2

MR EER:

% JI#FE1Z Diameter

T L1 ¥ Length(L1)

SBT4A0 g -
/I
#% [ H 12 Bore diameter of cutter
IhE

BE S Holder type

ARSI, Shank size



®
<5 O-N-W B T A

-SBT50-FMHC fHfE % R $k J] i SBT50-FMHC DAMPING MILLING TOOL HOLDER

>

o
>
=
=
=
[}
4
o
o
=
w0

B
&
i
7
1=l

\
/

##& Model
SBT50-FMHC16-200-D37 318.8 | 200| 17 |[36.5[163.5| 100 | 40 37 16 | 3.2 8 M8*1.25P
-250-D37 368.8 | 250 | 17 |36.5(213.5| 100 | 40 37 16 | 3.2 8 M8*1.25P
-300-D37 418.8 | 300 | 17 [36.5(263.5|/100 | 40 | 37 | 16 | 3.2 8 M8*1.25P
-350-D37 468.8 | 350 | 17 |36.5|313.5| 100 | 40 37 16 | 3.2 8 M8*1.25P

-FMHC22-200-D47 319.8 | 400 | 18 |36.5[363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D47 369.8 | 450 | 18 |36.5[413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-300-D47 419.8 | 500 | 18 |36.5|463.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-350-D47 469.8 [ 350 | 18 |36.5(313.5[100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-400-D47 519.8 | 400 | 18 |36.5[363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-450-D47 569.8 | 450 | 18 |36.5(413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-500-D47 619.8 | 500 | 18 |36.5|463.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-550-D47 669.8 | 550 | 18 |36.5|513.5[ 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-600-D47 719.8 | 600 | 18 |36.5|563.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-650-D47 769.8 | 650 | 18 |36.5|613.5/100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-700-D47 819.8 | 700 | 18 |36.5|663.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D58 369.8 | 250 | 18 |36.5[213.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-300-D58 419.8 | 300 | 18 |36.5|263.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-350-D58 469.8 [ 350 | 18 |36.5(313.5[100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-400-D58 519.8 | 400 | 18 |36.5[363.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-450-D58 569.8 | 450 | 18 |36.5[413.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-500-D58 619.8 | 500 | 18 |36.5|463.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-550-D58 669.8 | 550 | 18 |36.5|513.5[100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-600-D58 719.8 | 600 | 18 |36.5|563.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-650-D58 769.8 | 650 | 18 |36.5|613.5/ 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-700-D58 819.8 | 700 | 18 |36.5|663.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P

FAS SRR
T ? %HEE Diameter
L1 ¥ Length (L1)
[ H1Z Bore diameter of cutter
I8E{L S Holder type
SEIRAZ L Shank size




<5 0-N-w®

A SBT50-FMHC DAMPING MILLING TOOL HOLDER
2
z)E
g)ﬁ}i D D1 <O/\[\r
s% \ K1
"% B T e

L3I L4 L2

[ L1

L
#M#E Model L L1 L2 L3 L4 D D1 D2 d K1 K2 M E= KG

SBT50-FMHC27-250-D58 371.8 | 250 | 20 |[36.5(213.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-300-D58 421.8 | 300 | 20 |36.5[263.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-350-D58 471.8 | 350 | 20 |36.5[313.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-400-D58 521.8 | 400 | 20 |36.5|363.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-450-D58 571.8 | 450 | 20 |36.5|413.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-500-D58 621.8 | 500 | 20 |36.5(463.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-550-D58 671.8 | 550 | 20 |36.5(513.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-600-D58 721.8 | 600 | 20 |36.5(563.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-650-D58 771.8 | 650 | 20 |36.5(613.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-700-D58 821.8 | 700 | 20 |36.5(663.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-250-D74 371.8 | 250 | 20 [36.5(213.5|100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-300-D74 421.8 | 300 | 20 |36.5[263.5|100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-350-D74 471.8 | 350 | 20 |36.5(313.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-400-D74 521.8 | 400 | 20 |36.5|363.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-450-D74 571.8 | 450 | 20 |36.5|413.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-500-D74 621.8 | 500 | 20 |36.5(463.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-550-D74 671.8 | 550 | 20 |36.5(513.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-600-D74 721.8 | 600 | 20 |36.5(563.5|100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-650-D74 771.8 | 650 | 20 |36.5(613.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-700-D74 821.8 | 700 | 20 |36.5(663.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-FMHC32-250-D80 373.8 | 250 | 22 |36.5[213.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-300-D80 423.8 300 | 22 |36.5(|263.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-350-D80 473.8 350 | 22 |36.5(313.5{100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-400-D80 523.8 | 400 | 22 |36.5[363.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-450-D80 573.8 | 450 | 22 |36.5[413.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-500-D80 623.8 [ 500 | 22 |36.5|463.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-550-D80 673.8 | 550 | 22 |36.5|513.5{ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-600-D80 723.8 | 600 | 22 |36.5|563.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-FMHC40-300-D90 | 426.8 | 300 | 25 |36.5(263.5(100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-350-D90 | 476.8 | 350 | 25 [36.5(313.5/ 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-400-D90 | 526.8 | 400 | 25 |[36.5(363.5/ 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-450-D90 576.8 | 450 | 25 |36.5|413.5|/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

-500-D90 | 626.8 | 500 | 25 | 36.5(463.5| 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-550-D90 | 676.8 | 550 | 25 [36.5(513.5/ 100 | 98 | 90 | 40 | 83 | 16 M16*2.0P

-600-D90 726.8 | 600 | 25 |36.5(563.5/100| 98 | 90 | 40 | 83 | 16 M16*2.0P

MRS RA:

? ®HHE Diameter
T L1 & Length(L1)
£ H1Z Bore diameter of cutter
BEXS Holder type
AR Shank size



®
<5 O-N-W B T A

-SBT40-CKC [HfE iR ¥R $E J] 1k SBT40-CKC DAMPING BORING TOOL

>

B
e <
%z
&3
e
B

\ T-~~"""""°°° i
— —o — [ -— B
S J
L3 L2
L1
L
& Model L2 L3 L4 L5 D D1 d M EE KG

SBT40-CKC2-150-D25 215.4 150 124 26 6.62 31 63 25 14 M5*0.5P
=175-D25 240.4 175 149 26 6.62 31 63 25 14 M5*0.5P
=-200-D25 265.4 200 174 26 6.62 31 63 25 14 M5*0.5P
-CKC3-200-D32 265.4 200 174 26 8 35 63 32 18 M6*0.75P
-230-D32 295.4 230 204 26 8 35 63 32 18 M6*0.75P
-260-D32 325.4 260 234 26 8 35 63 32 18 M6*0.75P
-300-D32 365.4 300 274 26 8 35 63 32 18 M6*0.75P
-CKC4-235-D40 300.4 235 209 26 10 39 63 40 22 M8*0.75P
-275-D40 340.4 275 249 26 10 39 63 40 22 M8*0.75P
-315-D40 380.4 315 289 26 10 39 63 40 22 M8*0.75P
-350-D40 415.4 350 324 26 10 39 63 40 22 M8*0.75P
-CKC5-310-D50 375.4 310 284 26 13 45 63 50 28 M10*1.0P
-350-D50 415.4 350 324 26 13 45 63 50 28 M10*1.0P
-400-D50 465.4 400 374 26 13 45 63 50 28 M10*1.0P
-450-D50 515.4 450 424 26 13 45 63 50 28 M10*1.0P
-500-D50 565.4 500 474 26 13 45 63 50 28 M10*1.0P
-CKC6-295-D63 360.4 295 269 26 16 55 63 63 36 M12*1.0P
-350-D63 415.4 350 324 26 16 55 63 63 36 M12*1.0P
-400-D63 465.4 400 374 26 16 55 63 63 36 M12*1.0P
-450-D63 515.4 450 424 26 16 55 63 63 36 M12*1.0P
-500-D63 565.4 500 474 26 16 55 63 63 36 M12*1.0P

MR

SBT40[P -H - - @
JI#FE1Z Diameter
L1 ¥ E Length(L1)
Ihg

O E Model number of connection
BE1X S Face mill holder type
H#ARAZ T Shank size




®
JE/E 7 T A <5 O-N-W

-SBT50-CKC fHfE iR ¥R $E J] 1k SBT50-CKC DAMPING BORING TOOL

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

##E Model
SBT50-CKC2-160-D25 261.8 160 123.5 | 36.5| 6.62 31 100 | 25 14 M5*0.5P
-185-D25 286.8 185 148.5 | 36.5 | 6.62 31 100 | 25 14 M5*0.5P
-210-D25 311.8 210 173.5 | 36.5| 6.62 31 100 | 25 14 M5*0.5P
-250-D25 351.8 250 213.5 | 36.5 | 6.62 31 100 | 25 14 M5%0.5P
-300-D25 401.8 300 263.5 | 36.5 | 6.62 31 100 | 25 14 M5%0.5P
-CKC3-220-D32 321.8 220 | 183.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-250-D32 351.8 250 213.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-280-D32 381.8 280 243.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-300-D32 401.8 300 263.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-350-D32 451.8 350 313.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-CKC4-260-D40 361.8 260 | 223.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-300-D40 401.8 300 263.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-340-D40 441.8 340 303.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-400-D40 501.8 400 363.5 | 36.5 10 39 | 100 | 40 22 M8%*0.75P
-CKC5-310-D50 411.8 310 273.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-355-D50 456.8 355 318.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-400-D50 501.8 400 363.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-450-D50 551.8 450 | 413.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-500-D50 601.8 500 | 463.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-600-D50 701.8 600 563.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-700-D50 801.8 700 | 663.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-CKC6-375-D63 476.8 375 338.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-440-D63 541.8 440 | 403.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-500-D63 601.8 500 | 463.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-600-D63 701.8 600 563.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-700-D63 801.8 700 | 663.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-CKC7-450-D100 551.8 450 413.5 [ 36.5 | 19.1 60 | 100 | 90 46 M20*1.50P
-500-D100 601.8 500 | 463.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
-600-D100 701.8 600 563.5 | 36.5 | 19.1 60 | 100 | 90 46 M20*1.50P
-700-D100 801.8 700 663.5 | 36.5 | 19. 60 | 100 | 90 46 M20*1.50P

M EER:

% JI#FH1Z Diameter
L1 & Length (L)
O E Model number of connection
I8

BE1X S Face mill holder type
HEFRAZ T Shank size



<5 0-N-w®

HBEm#IIR

-SBT50-BSTC PHR R IR iE J1 1R

SBT50-BSTC DAMPING BORING TOOL

o
>
=
=
=
[}
4
o
o
=
w0

B
&
i
7
1=l

95

\
/

##E& Model L2 L3 L4 D EFEKG
SBT50-BSTC-400 501.8 400 101.8 36.5 363.5 100
-450 551.8 450 101.8 36.5 413.5 100
-500 601.8 500 101.8 36.5 463.5 100
-600 701.8 600 101.8 36.5 563.5 100
-700 801.8 700 101.8 36.5 663.5 100
FA& IR
? @_l K Length (L1)
IHREfLS Holder type
AR, Shank size




®
JE/E 7 T A <5 O-N-W

-SBT40-SNER fHE R R J] 1% SBT40-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

>

o
>
=
=l
=z
(9}
-
o
o
=
n

<]
=
i
i
7
i=1

\
/

|
o

L3 L2

#1& Model D2 *#%BE Range
SBT40-SNER25-180-D38 235.4 180 154 26 63 38 40 1-16 mm
-230-D38 285.4 230 204 26 63 38 40 1-16 mm
-280-D38 335.4 280 254 26 63 38 40 1-16 mm
-330-D38 385.4 330 304 26 63 38 40 1-16 mm
-380-D38 435.4 380 354 26 63 38 40 1-16 mm
-430-D38 485.4 430 404 26 63 38 40 1-16 mm
-500-D38 555.4 500 474 26 63 38 40 1-16 mm
-SNER32-180-D48 235.4 180 154 26 63 48 50 2-20 mm
-230-D48 285.4 230 204 26 63 48 50 2-20 mm
-280-D48 335.4 280 254 26 63 48 50 2-20 mm
-330-D48 385.4 330 304 26 63 48 50 2-20 mm
-380-D48 435.4 380 354 26 63 48 50 2-20 mm
-430-D48 485.4 430 404 26 63 48 50 2-20 mm
-500-D48 555.4 500 474 26 63 48 50 2-20 mm
A% RA:
SBT40 8 -BB - - %I}
JI# B4 Diameter
L1 Length(L1)

3RS Collect model
B Jzfh Collect type ER
HERAZ T Shank size



®
<5 O-N-W B T A

-SBT50-SNER fHE R #x 7] #% SBT50-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

o
>
=
=
=
[}
4
o
o
=
w0

B
&
i
7
1=l

\
/

L3 L2

#& Model D2 XF55EE Range
SBT50-SNER25-230-D38 321.8 230 193.5 36.5 100 38 40 1-16 mm
-280-D38 371.8 280 243.5 36.5 100 38 40 1-16 mm
-330-D38 421.8 330 293.5 36.5 100 38 40 1-16 mm
-380-D38 471.8 380 343.5 36.5 100 38 40 1-16 mm
-430-D38 521.8 430 393.5 | 36.5 100 38 40 1-16 mm
-480-D38 571.8 480 4435 36.5 100 38 40 1-16 mm
-530-D38 621.8 530 493.5 | 36.5 100 38 40 1-16 mm
-600-D38 691.8 600 563.5 36.5 100 38 40 1-16 mm
-SNER32-230-D48 321.8 230 193.5 36.5 100 48 50 2-20 mm
-280-D48 371.8 280 243.5 | 36.5 100 48 50 2-20 mm
-330-D48 421.8 330 293.5 36.5 100 48 50 2-20 mm
-380-D48 471.8 380 343.5 | 36.5 100 48 50 2-20 mm
-430-D48 521.8 430 393.5 36.5 100 48 50 2-20 mm
-480-D48 571.8 480 4435 36.5 100 48 50 2-20 mm
-530-D48 621.8 530 4935 | 36.5 100 48 50 2-20 mm
-580-D48 671.8 580 543.5 36.5 100 48 50 2-20 mm
-630-D48 721.8 630 593.5 | 36.5 100 48 50 2-20 mm
-700-D48 791.8 700 663.5 36.5 100 48 50 2-20 mm
=-SNER40-230-D58 321.8 230 193.5 36.5 100 58 63 2-26 mm
-280-D58 371.8 280 243.5 36.5 100 58 63 2-26 mm
-330-D58 421.8 330 293.5 36.5 100 58 63 2-26 mm
-380-D58 471.8 380 343.5 | 36.5 100 58 63 2-26 mm
-430-D58 521.8 430 393.5 36.5 100 58 63 2-26 mm
-480-D58 571.8 480 4435 36.5 100 58 63 2-26 mm
-530-D58 621.8 530 493.5 36.5 100 58 63 2-26 mm
-580-D58 671.8 580 543.5 36.5 100 58 63 2-26 mm
-630-D58 721.8 630 593.5 | 36.5 100 58 63 2-26 mm
-700-D58 791.8 700 663.5 36.5 100 58 63 2-26 mm

R 5 ER:
T @BHE@ Diameter
L1 Length(L1)
%A S Collect model
B IZFHZE Collect type ER
fRFZ T Shank size




hRAX PR BHENXF  ALLRIGHTS RESERVED

AR, HIMZESHEEN, WU AL, BASITE

PRODUCTS ARE IMPROVED CONTINUOUSLY, EVERYTHING IS IN ACCORDANCE WITH

PRACTICALITY UNDER CHANGED OUTINE AND PARAMETER, AND WITHOUT STILL FURTHER NOTICE.

LR EEIE ) ABRAE
IAREFTHNKERFAES ST —KIEL

ERNHEHEET4: HSNRHE T4

TEL: 400-697-5558 TEL: 0086 537 6598237

E-mail: sales@ounuowei.com FAX: 0086 537 6598237

ounuowei.1688.com E-mail: md3rd@ounuowei.com

WWW.ONWCNc.com ounuowei.en.alibaba.com
Www.ounuowei.com




